Tender No: All-EN-WDFC-TW-KVJN-25-26 Closing Date/Time: 05/05/2025 15:00

GM/DFCCIL/AJMER acting for and on behalf of The President of India invites E-Tenders against Tender No **AII-EN-WDFC-TW-KVJN-25-26** Closing Date/Time 05/05/2025 15:00 Hrs. Bidders will be able to submit their original/revised bids upto closing date and time only. Manual offers are not allowed against this tender, and any such manual offer received shall be ignored.

1. NIT HEADER

Name of Work	Protection of embankment and toe of embankment for (IMD KVJN Jurisdiction) 849.5-709.5 section in CGM ajmer unit					
Bidding type	Normal Tender					
Tender Type	Open	Bidding System	Two Packet System			
Tender Closing Date Time	05/05/2025 15:00	Date Time Of Uploading Tender	12/04/2025 15:21			
Pre-Bid Conference Required	No	Pre-Bid Conference Date Time	Not Applicable			
Advertised Value	148973161.80	Tendering Section	TENDER			
Bidding Style	Single Rate for Tender	Bidding Unit	Above/Below/Par			
Earnest Money (Rs.)	894900.00	Validity of Offer (Days)	60			
Tender Doc. Cost (Rs.)	0.00	Period of Completion	12 Months			
Contract Type	Works - General	Contract Category	Expenditure			
Bidding Start Date	21/04/2025	•				
Are JV allowed to bid	Yes	Number of JV Member Allowed	3			
Are Consortium allowed to bid	No	Number of Consortium Member Allowed	0			
Ranking Order For Bids	Lowest to Highest	Expenditure Type	Revenue			

2. SCHEDULE

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl. (%)	Amount	Bidding Unit	
Sched	ule () A-Schedu	ule A DSR It	ems				148973161.80		
	261	2164.00	cum	205.45	444593.80	AT Par	444593.80		
1	over areas (ex	ceeding 30 of excavated	cm in dept	:h, 1.5 m in wid	hanical means (Hanical means (Hanica	sqm on	plan) including g	etting out	
	271	4328.00	cum	412.95	1787247.60	AT Par	1787247.60		
2	over areas (ex	ceeding 30 of excavated	cm in dept	:h, 1.5 m in wid	hanical means (H Ith as well as 10 Id lift upto 1.5 m	sqm on	plan) including g	etting out	
	273	12984.00	cum	1184.30	15376951.20	AT Par	15376951.20		
3	Description:- 2.7 Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including getting out and disposal of excavated earth lead upto 50 m and lift upto 1.5 m, as directed by Engineer-incharge 2.7.3 Hard rock (blasting prohibited)								
	415	1514.80	cum	6833.40	10351234.32	AT Par	10351234.32		
4	Description:- 4.1 Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level : 4.1.5 1:3:6 (1 Cement : 3 coarse sand (zone-III) : 6 graded stone aggregate 20 mm nominal size)								
	711	21261.30	cum	6653.45	141460996.48	AT Par	141460996.48		
5	Description:- 7.1 Random rubble masonry with hard stone in foundation and plinth including levelling up with cement concrete 1:6:12 (1 cement : 6 coarse sand : 12 graded stone aggregate 20 mm nominal size) upto plinth level with : 7.1.1 Cement mortar 1:6 (1 cement : 6 coarse sand)								
	721	4869.00	cum	8275.70	40294383.30	AT Par	40294383.30		
6	Description:- 7.2 Random rubble masonry with hard stone in superstructure above plinth level and upto floor five level, including leveling up with cement concrete 1:6:12 (1 cement : 6 coarse sand : 12 graded stone aggregate 20 mm nominal size) at window sills, ceiling level and the like. 7.2.1 Cement mortar 1:6 (1 cement : 6 coarse sand)								
	13332	5410.00	Sqm	580.25	3139152.50	AT Par	3139152.50		
ı	-	1		I.	l				

Page 1 of 4 Run Date/Time: 12/04/2025 15:21:46

Tender No: All-EN-WDFC-TW-KVJN-25-26 Closing Date/Time: 05/05/2025 15:00

7	Description:- 13.33 Pointing on stone work with cement mortar 1:3 (1 cement : 3 fine sand) 13.33.2 Raised and cut pointing									
	1611	30000.00	Sqm	821.95	24658500.00	AT Par	24658500.00			
8	Description: -complete.	16.11 Dry	stone pitch	ing 22.5 cm thi	ck including supp	oly of sto	nes and preparir	g surface		
10	ODSR	1.00	Lumpsum	2375130.59	2375130.59	AT Par	2375130.59			
10	Description: -	Description:- Other DSR Items @ 1% of total DSR items								
11	GST12	1.00	Lumpsum	-25702306.05	-25702306.05	AT Par	-25702306.05			
11	Description:- Deduction for excluding 12% GST on Schedule A DSR items									
	NWR38below	1.00	Lumpsum	-81390635.82	-81390635.82	AT Par	-81390635.82			
12	Description HQ0ENGG(WK		n @ 38%	6 below on	base rate As	s per	NWR letter N	o. NWR-		
13	LARBelow	1.00	Lumpsum	-6546805.72	-6546805.72	AT Par	-6546805.72			
13	Description:-	Deduction	for LAR @ 4	1.93% below						
14	GST18	1.00	Lumpsum	22724719.60	22724719.60	AT Par	22724719.60			
14	Description: -	Description:- Additon for 18% GST on Schedule A DSR item								

3. ITEM BREAKUP

1	
	No item break up added
	No item bleak up added

4. ELIGIBILITY CONDITIONS

Important All documents uploaded and remarks / confirmation entered by the bidders against any
eligibility condition shall be opened as part of technical bid only

Special Financial Criteria

S.No.	Description	Confirmation Required		Documents Uploading
1	Financial Eligibility Criteria: The tenderer must have minimum average annual contractual turnover of V/N or 'V' whichever is less; where V= Advertised value of the tender in crores of Rupees N= Number of years prescribed for completion of work for which bids have been invited. The average annual contractual turnover shall be calculated as an average of "total contractual payments" in the previous three financial years, as per the audited balance sheet. However, in case balance sheet of the previous year is yet to be prepared/ audited, the audited balance sheet of the fourth previous year shall be considered for calculating average annual contractual turnover. The tenderers shall submit requisite information as per Annexure-VIII (Mandatory), along with copies of Audited Balance Sheets duly certified by the Chartered Accountant/ Certificate from Chartered Accountant duly supported by Audited Balance Sheet. Note: Client certificate from other than Govt Organization should be duly supported by Form 16A/26AS generated through TRACES of Income Tax Department of India. As per Clause No. 10.2 of Tender Form (second Sheet) of Annex. I of Part-I of GCC APRIL-2022, with up to date correction slip.	No	No	Allowed (Mandatory)
2	As mentioned in tender document	No	No	Allowed (Mandatory)

Special Technical Criteria

S.No		Confirmation Required		Documents Uploading
1	Technical Eligibility Criteria:- (Applicable in this Tender) The tenderer must have successfully or substantially* completed any of the following during last 07 (seven) years, ending last day of month previous to the one in which tender is invited: Three similar works, each costing not less than the amount equal to 30% of advertised value of the tender, OR Two similar works, each costing not less than the amount equal to 40% of advertised value of the tender, OR One similar work, each costing not less than the amount equal to 60% of advertised value of the tender. Note: "The similar nature of work is defined is "Any Civil Engineering Work involving PCC/RCC/PSC work." *To be read along with 15.8	No	NO	Allowed (Mandatory)

Page 2 of 4 Run Date/Time: 12/04/2025 15:21:46

Tender No: All-EN-WDFC-TW-KVJN-25-26 Closing Date/Time: 05/05/2025 15:00

2	As mentioned in tender Document	No	No	Allowed (Mandatory)

5. COMPLIANCE

Important All documents uploaded and remarks / confirmation entered by the bidders against any
compliance condition shall be opened as part of technical bid only.

Check Lst

S.No.		Confirmation Required		Documents Uploading
1	As mentioned in Tender Document	No	No	Not Allowed

Commercial-Compliance

S.No.	•	Confirmation Required		Documents Uploading
1	please enter percentage of local content in the material being offered .Please enter 0 for fully imported items and 100 for fully indigenous items.The definition and calculations of local content shall be in accordance with the make in india policy as incorporated in tender conditions	No	INO	Allowed (Mandatory)
2	As mentioned in tender Document	No	INO	Allowed (Mandatory)
	Please enter the percentage of local content in the material being offered. Please enter 0 for fully imported items, and 100 for fully indigenous items. The definition and calculation of local content shall be in accordance with the Make in India policy as incorporated in the tender conditions.	No	Yes	Allowed (Optional)

General Instructions

S.No.		Confirmation Required		Documents Uploading
1	As mentioned in Tender Document	No	No	Not Allowed

Special Conditions

S.No.		Confirmation Required		Documents Uploading
1	As mentioned in Tender Document	No	No	Not Allowed

Technical-Compliances

S.No.		Confirmation Required		Documents Uploading
1	As mentioned in Tender Document	No	INO	Allowed (Mandatory)

Undertakings

S.No.		Confirmation Required		Documents Uploading
1	As mentioned in Tender Document	No	No	Not Allowed

6. Documents attached with tender

S.No.		Document Description
1	Tender Document Protection of embankment and toe of embankment for 849.5-709.5 section in CGM ajmerunitpdf	AIIENWDFCTWKVJN2526

This tender complies with Public Procurement Policy (Make in India) Order 2017, dated 15/06/2017, issued by Department of Industrial Promotion and Policy, Ministry of Commerce, circulated vide Railway Board letter no. 2015/RS(G)/779/5 dated 03/08/2017 and 27/12/2017 and amendments/ revisions thereof.

Page 3 of 4 Run Date/Time: 12/04/2025 15:21:46

Tender No: All-EN-WDFC-TW-KVJN-25-26 Closing Date/Time: 05/05/2025 15:00

As a Tender Inviting Authority, the undersigned has ensured that the issue of this tender does not violate provisions of GFR regarding procurement through GeM.

Signed By: VASUDEV PARASHAR

Designation: AMCM

Page 4 of 4 Run Date/Time: 12/04/2025 15:21:46